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AqefEr (Physics) MCQ S

it o8 A=31-3] i =5+ 5k 97 4RI @9 $7 (What is the angle between the two
vectors A = 31— 3f and B = 51+ 5k 2)

@ 60° (B) 30° (C) 45° (D) 90°

5 m mE T G2l @ 20 m/s QU1 A e 30° Gemel Borgae e Fimwer v ) ware

it fa5ad 28 F57 (A ball is thrown upward with an angle of 30° with the horizontal line from a
height of 5 m with a velocity of 20 m/s. What will be the time of flight of the ball? )

10+/198 104198 104198 1047
@ e (B)=5g 3 O =g = D)=5- %

. =l fag e, ﬂﬂﬁfﬁﬁwﬁﬁiﬁﬁmﬁﬁlnﬂmmw (In a standing wave, the

separation between two adjacent nodes is 1 m. Whal is the wavelength of it?)

(A)25 cm (B) 50 em (@100 e @) d00.cm

p -
i e oo Es Bb S9m T x, =Astnul 3 x; = Acosaily (I T ANGI U ToY o -

s ¥ 7T (Two particles arc osgillating at simple harmonie, motion. Iftheir displacements are

described by ¥, = Asinwt and x; = Acosat, what will be the phase difference between them al any
instant? )

(A)2m {B)n f?. (D) /4

 grET o foTe wase gwlt g I (dfeEns 1s) 16w TR (UG G A e e FE

o awls Wi ITEd B @@ AT 6 cm A GT W1 I WS 4w FS?7 (When you look

downward from the top of a thick glass (reffactive index 1.5) slab used as a paper wieight, a mark an the
paper is seen 6 cm below from the top of the slab. What is the thickness of the glass slab?)

(A) 4 em (B) Gem (@9 em (D) 12em

#

e TENCe wibesrs 7, 98 WH 67 (What is the value of the current 7, in the circuit below?)

(A)02 A @0an (C) 0.6 A (D)12A

510 0gA
—AMW—>

BN
R

c
v o
m

| :\/

2ofl5



Admissionwar.com

7. @l Sl 3EE S00 K 99 250 K wiemrere g3l e my feifre o e v 2 o

T (A | keal 1Y I¥4 WA GITE ACET GO A IS A T8 T AR FS7 (A Carnot

engine is operated between two reservoirs at temperatures of 500 K and 250 K. If the engine receives |
keal of heat from the source in cach cycle, the amount of heat rejected to the sink in each eyele is -)

(® 500 cal (B) 1000 cal (€) 500 keal (D) 10 keal

8. gl e gl dtee oFa § O7 S TemE v o e T uie gl efswsa |y
w4 B femriien @ S 937 (A charge g moving with velocity ¥ along the direction of a magnetic

field B. If there is an electric ficld E in the same place then what will be the effective force an the charge
97)

(A) q(F + 8 x ) (B)q(E + 3.5 © i (D) q(E + i)
A
So fevicad c0a Tese Q1 TETEE ACET 1€ @D? (Condition for the constructive interférence is:)

(A)asing = (2n+ 1) @asinﬂ:ni (@asin0=n%  (D)asid=(@n+1)2

10. <%0 3 x m AP TR A 4.0 m/s INEH608 @ G R TS oL FS T AN

(An object is moving on a circular path of radius = m a1 a constant speed of 4.0 mis. The time required for
one revolution is:)

(A)2/ms OLILE (©n/2s (Dynt /4’

1. ez gagu qe 92t 38 REsRe @@ m, ¢ m, S8 30 W@Wee RS T WE v, 8 v, @
fasrdle fimas vorar | 51- 4 FS FE7 (A body initially at rest, exploded into two objects of masses m,

4
and m;, which are moving apart in opposite dircction with speeds vy and v, respectively. What is the ratio

W
w?
(W @ (© - (o) (2

12, 10 cm =191 @ 0.5 cm Te0Y RFE @ o ¢ wafd emem wace e we W 20 em @@
CET! FNG Sl T Sl W T I W CNH DO 1 O 20 oemEe HRed T

TR g % @ T 24N 3% W°TS 7 (A steel and a brass wire, both having 10 cm length and
0.5 em radius, are joined together making the total length of the combined wire 20 ecm. The combined
wire is stretched by applying a force. I the Young's modulus of steel is twice as much as that of brass,
what will be the ratio of the extension of steel to the extension of brass? )

(A)1:8 (B)1:6 (C)1:4 Oj1:2

13. vy el S 9% JU? ( Which one of the following is not a unit of mass?)

(A) amu (B) — @Mel.f (D) Nm™1g?
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14, am!ﬂ'ﬁf@mw faw) =rw olien aram wra o a9# ) g sy i el wweE ¥ @m o
e @3 g (sury S Qfbm g9 o e 3fi) wrm g o ww P R e aee Ao

@ crafbufT wifem ot @i T2 (A car accelerates from rest (point P) on a straight road. A short

time later. the car decelerates to a stop and then retuns to its original position (point P) in a similar
manner, by speeding up and then slowing to a stop. Which of the following four displacements versus
time graphs best describes the motion?)

v S [ e LL
= o i 86

(A) (B)

15. AR, ffrm o GilReE e S S 13, 2 992 14 T8, AP ket =827 + ()

Fiefeam Ritmme wefaE w0 @Fb? (Aluminum [bs atomic number 13, helium has atomic dumber 2,
and silicon has atomic number 14. In the nuclegr reactionAl?” 4+ He?” - §i%.4 () the missing particle
is:)

(A) an a particle (B) a positron {C) an electron @tpﬂw

A (Cheniistry) MCQ =e1

\

1. Brafére wrram TR UM @WIBE A g = 4,/ = | fifE wRem fr (What is the orbital of
hydrogen atom at its excited state with quantum number =4, /= 17)

(A) 5 orbital (B p orbicd (C) @2 orbital (D) dyz_ya orbital

2. BaMnF, 9%t Li:MgFcF, AMEar Mn 6 Fe & &5 Hem adieser |, 1 (The oxidation numbers of Mn
and Fe in BaMnF, and Li;MgFeFare _, | respectively)

(A) 45,43 (B) 45, 2 (C) 4, 43 ©2, 12

3.Fe (s) | Fe' (aq) || Bis () 3 Br “(ag) | Pt (s) ofEs apmafie cammea o canr-Rafamm Bz (Which one is the
comrect cell reaction ol the given clectrochemical cell?)

(A Fe + Bry — Fe*” +2Br - " (B)Fe+2Br — Fe? +Bn
(C) Fe" +Bry— Fe + 2Br- (D) Fe + Br; — Fe'” + 2B~

4. fieza com s wmfirshie afte e wiElie afices woa ender Tare w9z w1 w2 (Which one of the

following tests can be used to distinguish between sulphuric acid and nitric acid?)

(A) s Fiotre o @1 (Test with universal indicator)

(B) onfEurr widei® &% quiot | (Addition of sodium carbonate powder)
) wTcAfm et @io | (Addition of magnesium ribbon)

(D) cafirm 1S H9 QuroT | (Addition of barium nitrate solution)
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5. A5 sisfar o SECT @Fires SPRE (T ST S 968 — (The bond present between amino acid units
in protein molecule is —)

(A) Glyeosidic bond @ Peptide bond (C) Hydrogen bond (D) Metallic bond

6. frza cor clifl wpfafee stmepen ehi<m @@e (Which one of the following compounds exhibits geometrical
isomerism?)

(A) (CHON (B) CILCH=ClL, () (CH)NH  ([D)CHCH-CHCH,
7. W Ao Agered smfiam wEdEs Fom @i Mt B @@ (Which of the following compound is

produced when ealcium carbide geis contact with moist air?)

(M Ethege ., (8) Ethane (©) Exthyne D) Ethanal
oz g i

B.CI l;.-CI-I[C;l-i,}-CH;-,:EI-IBr-‘ﬁl lCI»E:H_m a5 IUPAC 1 g— (The IUPAC name of the compound is -)

(A) 2-CRIGH-3- -5 -B9TERCEEH (2-Chloro-3-bromo-5-cthylhexanc)
(B) 2-CaTEAl-3-@IA1-5-FeERTEensa (2-Chlore<3-bromo-S-methylheptané)
(C) 3-CH1-2 - CRICAT-5-RNREELHA (3-Bromo-2-chloro-5-ethylhexang)
@ 3- @I 2 -5 -FeiEeeE s (3-Bromos2-chlore-S-methylheptane)

9. a1d citer Brar @ AwEE - fEmme | @i oFGn w17 B0 wer w2 (Diamond and graphite are the allotropes
of carbon. For them. which of the following statements is incorreet?)

(A) T T oiler w1 S0 | (Bolk of them an; made of carbon.)

(B) Fa1 6 SR A TN AT T YARF sp* @’ 1 (Hybridization of carbon atom in diamond
and graphite arc sp” and sp®, respectively.)

((C) St 7z w1 @@® | (Both of théin possesses ifie same heat of combustion.)
(D) Ssum fgre “ffEeT &7 1 (Both of them possesses different clectrical conductivity.)

10. MRI ¥owe gy s @ e om dme sfim some? (Which element plays a role in
diagnosing disease in a human body by MRI?)

{A) Neon {B) Oxygen @Hydrugnn (D) Silicon

1. 10.50 mL =3 =i wwrs fis @wiba araga w9y (Which one of the following is appropriate o
measure 10,50 mL of a liquid?)

) el (Pipetic) (B) 1o Biffvsta (Measuring cylinder)
qGE (Burette) (D) s ¥1% (Volumetric flask)

12. 0.98 g H.SO, T¥T® =@ |.0 L &l 5w tefir w1 211 5a9fby wwmn 292 (1.0 L aqueous solution is
prepared using 0.98 g of H;S0,;. What is the concentration of the solution?

(A) 0.1 M (B) 0.1 m @LIRY (D)0.01 m

Anfls
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13. ﬂﬁﬁé et wulh Srerie 900E? (How many electrons are present in a nitrate anion?)
(A) 19 (B)23 (€)31 3

14, fizs caribee SiReE eaw-wae GG w12 (Which of the following is usually termed as liquid-
" liquid chromatography?)

) T (I IRF (Column chromatography)
vt G shifE (Paper chromatography)
(C) T TR (Gas chromatography)
(D) &= & coraIcoIstEF (Thin laver chromatography)

15, camaf® why e iy et tefi 302 (Which one of the following forms an aqueous acidic solution?)

&
(A)Na:O (B) ZnO (C) ALO; @ co,

7o (Mathematics) MCQ &2t ‘
N

44

4. the value of det (24°?) is-)
A

La=(3 C3)wdot2a) LT - (174 =

Ny (5"
(A) 4 ®-1 ©)3 M-

2. f(x) = V2 — VT = ¥ 4% COICUEA <1 = (The domain B0 () =2 —VZ - xis -)
(A) (~=,2) (B) (—=,) (€) (=2, ®[-22)

3. limy w"-iii—’mmm ﬂ'!'lcwluubﬂim,;_;, ’r_“ is —)

(A1 @ -1 () —0 (D)<

4. [0,2] TS y = x — 1 GEL Y = 0 G T TS AWCETS (W CFFFR 7 (What is the total arca of the
region bounded by the linesy = # — 1and y = 0 over the interval [0,2]?)
(A) [ (x = 1)dx  ABY flx — 1|dx ©z2ffa-x0d @2 [fj(-1dx

5.5 = 6i+7] — 6k ®3awaaa @ = 20 — 2] + k (50T B T — (The component of the vector
d = 2i — 2J 4 k in the direction of the vector b= 6i+ 7j — 6k is—)

(A) =B @ =5 (©)2-d (D) =d

121 121 121

6. *Geometry' *rafoe wfefr 7wef vt Fim 90 7T AEE W @F LU 6 CT TF o’ AMI?
(What is the number of ways in which the letters of the word ‘Geometry” can be arranged so that the first
ond last letters are always ‘e'7)

(A) 360 - (B)20160 @?20 (D) 30

Goflls
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138 : st i ) . : iye,
¥. X p— X R — ¢ x-free term in the CXpansion o x — 15—
7 (2 +Bx) @3 fagfecs x aféf 4t W7 EE — (The x-f he expa f(z +B;) )

e (D)=

W2 (B) 520
n1 1248 512

8. 25x2 + 16y? = 400 Toiqrad Terslmest w97 (What is the eccentricity of the ellipse
25x* + 16y = 400?)

w3 (B) ©3 OF

0. (4, 3) e fafB @2 5x — 12y +3 = 0 ¥ @NE = W G iR @Ab? (Which is the
cquation of a circle that touches the straight line 5x — 12y -+ 3 = 0 and centered at (4, 3) 7)

(A) X2 +y?*+8x—6y+24=0 @B)x +y*—8x—6y+24=0
(C)x%+y* +8x+6y+24=0 (D)x® +y*—8x—6y—24=10

10. Cot(Sin™'3) =2

1 2 : : V3
(A)7; (B) 75 © 3 ®3F
1. = > 1 @ T 2T — (The solution of |3ri~ > Lis-) g
(A) [—m.'ﬂuil,m} ®) gw-% © ufr<§ @[{’»%]UG-E]

12. 9% f(x) = x* — 2|x| 992 g(x) = x? + 1 T, BT g(f (—2)) 97 = F? (If f(x) = x* — 2|x| and
g(x) = 2 + 1, what is the value of g(f =20

(A)0 ®1 (€ -1 (D)5
13. [ rre = '
(Nim t e @’ZE:'—LH‘F c (O +c (D) s35te
14, H a9 A W ZEE— (The modulus nf‘:—"_': is—)
(A)O @ (C)V2 (D) i

15. @ 93 fsps s P e 2P wmowe o V77 @ O I99S] @ 97 (Il'hml'orccsl_"and
2P acted on a point and their resultant force is V7 P, what is the angle between them? )

(A) 180" (B) 90 @ran" (D) 30°
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rafe@ ™ (Biology) MCQ &4
|, offira efire 9eEe aTEEa A — (Name of the enzyme used in the preparation of cheese =)
(A) %16 (Pectin) @ @l (Rennin) (C) wnhceTei (Caalase) (D) ¢HLHEA (Popain)
2. AlbY wfRgiey |iE @ 3 T 71? (Which one has vascular system but not flowering?)

(A) ATeETEED! (Thallophyta) (B) SaT#IE00 (Bryophyta)
@ OfaTeretas (Preridophyta) {D}Wﬂﬁ'ﬁm {Spermatophyta)
3. Ponceac (A BRTFa W ¥ 24 — (The fruit of the family Poaceae s called — )
(A) @ (Berry) @ Ffaenft (Caryopsis) () 15 (Pod) (D) T (Capsule)

4. cowie “aE Sf@M? (Which one is a deciduous plant?) :

(A) Pongamia pinnaie (B) Heritiera fonice @Shm-eu rofnista (D) Cerings decandra
5. wira FoCATEY WREE-0eE He — (Thie nutiber‘o§ base-pair in fuman gename — )

(A) o FiETE (3 million) () o FfErE (30 million)

(C) woo Fifér (300 million) (D) o000 A (3000 million)
6. T Efews e fREe 7 (Which plant is endangered in Bangladesh?)

(A) Preris virtata Padocarpus nerifolia (C) Cycas revoluta (D) Nerium indicum
7. @ AR aBred g 8% ¢RE Az (Which amino acid has 4 codons?)

(A) B8P (Leucine) (Valine)
(C)wmafEf@ (Arginine) (D) fBBroF (Tryptophen)

§, (AT THICS WREENE il WH? (In which organclle, oxisome is present?)

(A =g (Mitoshondria) (B) P (Nucleus)
(C) =EE=TA (Ribosome) (D) FEFE (Lysosome)

9. (o1 e ST EM FETE? (Which animal has placoid scale?)
(A) STRITTE (Aurelicr) @) 37 (Scoliodon)  (C) ¥ (Anabas) (D) I W& (Catla)
10, (o TaCTCE e PiGERT &g T (Source of which hormone is not pituitary gland?)

(A) ceiETEA (Prolactin) @ CHTCETFo7 (Progesierone)
(C) SR (Vasopressin) (D) =R (Oxytocin)

Boll5
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|| Pt 1 efede CaBs — (Flame cell is the characteristic of the phylum — )

(A) ‘ﬂlﬁff.‘;‘fﬁﬂ (Arthropoda) (D) emfifere {Annelida)
(C) =% (Mollusca) @ zifbrzsifiemas (Platyhelminthes)

12, FcEa WfEs @ sy w@@e @Hb? (Which one is the covering of brain and spinal cord of human?)

@ﬂﬁ?ﬂﬂ (Meninges) (B) cAfBIFT (Peritancum)
(C) ¢oifammalu (Pericardium) (D) FrermfEas (Neurocardium)

13, qugare «fg (e @ T [ W2 (Which hormone is released from adrenal gland?)
@ e Ie (Glucocorticoids) (B) ¢omeEtEf® (Gonadotropin)
(C) reaea (Parathormone) (D) =TEFBRA (Caleitonin)

|4, SFETE GG TYEEEREGE $09 S 10GP (What is the percentage of 1gG in total immunoglobulin
in human body?)

@ 75% (B) 15% (£).10% () 5%
15. *fEfem ad &= — (Effect of polygene is —4)

@Cumulmiw (siforge) (B) Dominant (25) 5
(C) Recessive (2929) ' (D) Co-dominant (FHT)
I MICQ =12

1. e Wil e faomfn we

(A) Tt (B) wAIfH (e) Rf (D)
2. ‘fadlurm afe craam” feens ce SR 9T ware?
(A) Rders _ (B) EnTE (C) T (@)ahakiad

3. ' =wion afeT —
OE (B) ws () (D) Tt

4, ‘i e T we

(A) A (B) R amna stew (C) s (D) =iffer
5. GO WG 95

(A) FEYT, =i, T (B) wafer, sy, Feerdfige

(C) eifernfire, Ao, wew TR, FrRres, oo

9ofl5
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6. ‘tafszy =G s TaiE —

(A) ARTEE  (B) T © =enme (D) Berrefeicn

7. MG ST 2

@) e (B, cSifere (C) 4l (D) enfs
8. G RS Mo BATR?

(A) AeAs  (B) g (C) T ©) et
9. W Gl fEmcd ey

(A) afeors (B, sfowdl © =ffr (D) o,
10. - e st el wos? '/ l

Gk (B) (©) oy«
11, *cori werof wif orfFfEos| @ B wT BT SwioaTe

(A) W waon O, O (D) <P
12, TR WpTHIE Gl it 2ol ora R @ geme wiige e

(A) ey (B) ¥H (C) =) (D) uffarars
13, B-FAfr stes RO O (P CTHEY I ST GuT e et

(A) T (B) = (@ 7 (D) %
14, ‘SSTaT 9gF TPT SROE e |

(A) tAfewer (B) Rcaecan O smwr wmepife (D) Sk

15, " o S9Uh A (@

(A) & @ 2y (C) e (D) vt
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English (MCQ Part)

Rend the following passage nnd answer the questions (1-5)

‘Bacterin’ is the common name of a very large group of one-celled microscopic organism that, we believe,
may be the smallest, simplest, and perhaps even the very first form of cellular life that evolved on carth. That
is why they are observable only under a microscope. There are three main types of bacterin, which are
classiled according to their shape.

The bacilli are a group of bacteria that oceur in the soil and air. They arce shaped like rods. I7 we look at them
under a microscope, we find them in motion, they always scem to be rolling or wmbling under the
microscope. These bacilli are largely responsible for food spoilage. There is another group of bacteria who
tend to grow in chains. They are referred 1o as the cocei group. A common example of this type is
streptococei that causes strep throat. Finally, there is the spiral shaped bacterin called spirilla. They look a
little like corkscrews, and they are responsible for a number of discases in humans. Some species of bacteria
cause discases, but mostly bacteria live harmlessly on the skin, in the mouth, and the intestines. In fact,
bacteria are very helpful to researchers. Bacterial cells resemble the cells of other lifefarms in many ways,
and may be studied 10 give us insights.

1. What is the topic of this passage?
@ Three major types of bacteria
(B) Flow microscopic organisms are mcagbred
(C) How bacteria is used for research in genctics
(D) Diseases caused by bacteria

. According to the text, which clisracteristic.is common in baeteria?

2
(®) They have one cell, (B) They are harmful to humans.
(C) They dic when exposed to air. (D) They die quickly.

3. Why are bacteria used in the resedieh study?

(A) Bacterin live harmlessly. (B) Bacteria are similar to other life forms.
{C) Bacieria cause many diseases. (13) Bacteria have unusual cell formations.

4. Accarding to the passage. bacilli are responsible for

(A) pollmingair  (B) c_ius'Ing throat discascs @ spoiling food (D) spoiling soil
5. A similar word for ‘tumble’ is

(A) order (B) arrange (C) organize @ spill

Fill in each blank with the most appropriate word/words (Questions 6-15)

6. Monirissitting ____thedesk ____ front of the door.
@nl. in (B} in, on (C)on, on (D) at, at
T.As for __ ,1preferto let people makeup __ minds.
(A) myself, cach other’s @mc. their own (C) my, theirs (D) mine, one another

11of |5
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8. Kalam found it hard to get up from bed after the alarm clock ____ atsixam,
(A) sent out (B) threw out (@) went off (D) took out

9. Which one is the incorrect spelling? |

(A) deportation @ depriciation (C) denunciation (D) denomination
10. What is the antonym of *latent’?

(A) lurking (B) hidden @©) obvious (D) concealed
11. A synonym for ‘compassion’ is —

(A) indifference (B) cruclty @ vearning (D) heartlessness

12. The noun of ‘excite” is —

(A) excitable (B) exciting (C) excited (D) excitement
13. Slecplessness causes problems withour_~~ clock.

(A) botanical (B) biological - (C) natural ' @ rhythmical
4. Nutritionists still do not understand the nu!ritiu#al | of jackfruits,

(A) favours (B) helps (C) goods @xmﬁm
15. The person who has committed suchan .~ crime must be severely punished.

(A) injurious (B) unworthy »(C) uncharitable ahominahlc
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© speed of mﬂw@ﬁﬁ% < brought to a

- .?ﬁhgﬁhunﬂﬂ he time required 1 stop It

I - i '_'_l ey _ ! . - r

2 o A W Gim e o ﬁ.‘ﬂchs'{ﬁ}tt'l‘ﬂ) m v S .
T D (= 2 s AW T4 can ¢ g T FO7 (A body oscillating
Harmonic motion according 1o (e equation: X = 6.0¢cos(6at + x) m. What
frequency of oscillation? Find out the magnitude of velocity and acceleration at
I'=2s;)

-.-:-._--I e
Y el R ooty G (A = 220, 7 = 90) T@ £, MTEH i eomm = Pk 3

= Rfws afem Mefmm (A - 216, 2 = 88) 1o FE7 (A stationary Thordum'
nucleus (A = 220, 7 = 90) emits an alpha particle with kinetic energy E; What is the “ﬂ}ﬁ

-

Kinetic energy of the recoiling radium nucleus (A = 216, £ = 88)7) !
b e W R oy e o wa R 50 em | o 4@TE 9 TEmeen om - 225

TS FAE T e 9T B e % (athest distansc @RSt Afision for a short .
o 4 o *

sighted person is 50 cm. What are i (fBend power of the,lens t&gt‘.‘he may use for its

correction?) P

AR (Chiemiistry) BT g

3{a) AT AT WP WG o Rt adie sefa B sraron 416 | (According 15
to Bohr's model, show schem@callyghi®origin of emission spectrum of hydrogen
atom,)

(b} RRwwme st 2 AR Mo T @¥ ) (Write the names of five spectral 0.5
series in emission spectrim ‘ofindrogen.)

(e) o 3rer ax vl Frars@ o' (Write two limitations of Bohr's model.) L0

6. Na(g) +3H: (g) ==.H: (g) AH=-92 38 ki
ffits etvs emerers Baa e | (Answer the following questions.)

(1) EGR A N, 6 NH, aaﬂmﬁmﬁmmﬂlﬁmwwmw 1

7 | (Show schematically the change in amounts of N; and NH; with time. Express the r
rate of the forward reaction with respect to both of them.) . S '

(b) RREDs MoRes S0 o1 o WoR goR R wwy (Wha will be the effels of

temperature and pressure on the equilibrium of this reaction?)
the equilibrium constant (K)?) = N

f3f1s



N i ) 8 SR, TS
A ) SAF=T R {nverse function uFffxyE g.-, _r

R
hat [, =1(s = f X
ﬁf"h +....|..p+ Enfﬁ'ﬂwmﬂ’ (Find the sum of the series.
3

15+-+—~+H+ 1

Il y=2x=4y=4143t y= ﬁﬁmmﬁ*"aa,
{F_md the equations of the diagonals of thré

4andy = 6)
12. ﬂmﬁﬂsmﬂ+ainzﬂ+3mdﬂ : !
(Solve sin 0 + sin 20 + sTtiGﬂ & +rmﬂ*« ms.iﬁ"} p
. T
: . {
Srafra (Riotegy) Fi¥s W _j
T

3. e
F41 (Write the chemical _:.piy__:,_gmn of photosynthesis

functions of photosythesis.),

14, aaderd SRte YER GERRTS e

anatomical characters of the root of monocotyledonous plant.) 4

15, sfdf ﬂwm F7 (o, oo, o, 3, CTEPRR) | (Classtﬁ'hﬂm' "*
genus (including phylum, sub-phylum, class, order and family.) .ty

s arafae @il ﬁ’f" e TR 13 owyrd e S 7
and mention two important =

oG rafB Fd (Write six identifying

' _:H ot

16. e & A i | (Write the scientific names of the follo

b, = .111-{@ (ﬁpple snail) pffﬂ'l?k eec



19. ‘e yfeys fior ofF a7 e

20, feorde ww cora:
() WP K
(1) @Tefas 20

\\ 77
Engitsh Written Part
21. Hold fast to dreams
For if dreams die . €»
Life is a broken-wingédbizd
That cannot fly. y

4

Which poem are these lines taken from? Who is the writer of the poem? What does |

mean by “Life is a broken-winged bird™?

q






